

A DEFORMATION THEORY CONTROLLED BY
THE HIGHER ORDER HOCHSCHILD
COHOMOLOGY $H_{S^d}^\bullet(A, A)$

Jacob Laubacher

St. Norbert College

January 17, 2019 – JMM, Baltimore, MD



HIGHER ORDER HOCHSCHILD COHOMOLOGY

Fix the following:

- k is a field
- A is an associative and commutative k -algebra with multiplicative unit

HIGHER ORDER HOCHSCHILD COHOMOLOGY

Fix the following:

- k is a field
- A is an associative and commutative k -algebra with multiplicative unit
- $\otimes = \otimes_k$
- $\text{Hom}(-, -) = \text{Hom}_k(-, -)$

HIGHER ORDER HOCHSCHILD COHOMOLOGY

Fix the following:

- k is a field
- A is an associative and commutative k -algebra with multiplicative unit
- $\otimes = \otimes_k$
- $\text{Hom}(-, -) = \text{Hom}_k(-, -)$

Consider the chain

$$0 \longrightarrow A \xrightarrow{\delta_0} \dots \xrightarrow{\delta_{d-2}} A \xrightarrow{\delta_{d-1}} \xrightarrow{\delta_{d-1}} \text{Hom}(A, A) \xrightarrow{\delta_d} \text{Hom}(A^{\otimes(d+1)}, A) \xrightarrow{\delta_{d+1}} \dots$$

DEFINITION (ANDERSON – 1971, PIRASHVILI – 2000)

The cohomology of the chain complex above is called the **higher order Hochschild cohomology of A with coefficients in A** over the d -sphere. It is denoted by $H_{S^d}^\bullet(A, A)$.

HIGHER ORDER HOCHSCHILD COHOMOLOGY

$$\dots \xrightarrow{\delta_{d-1}} \mathrm{Hom}(A, A) \xrightarrow{\delta_d} \mathrm{Hom}(A^{\otimes(d+1)}, A) \xrightarrow{\delta_{d+1}} \dots$$

HIGHER ORDER HOCHSCHILD COHOMOLOGY

$$\dots \xrightarrow{\delta_{d-1}} \text{Hom}(A, A) \xrightarrow{\delta_d} \text{Hom}(A^{\otimes(d+1)}, A) \xrightarrow{\delta_{d+1}} \dots$$

Note that:

$$\begin{aligned} \delta_d(f)(a_1 \otimes \cdots \otimes a_{d+1}) &= a_1 \cdots a_d f(a_{d+1}) \\ &+ \sum_{i=1}^d (-1)^i a_1 a_2 \cdots \overline{a_{d+1-i} a_{d+2-i}} \cdots a_d a_{d+1} f(a_{d+1-i} a_{d+2-i}) \\ &+ (-1)^{d+1} a_2 \cdots a_{d+1} f(a_1). \end{aligned}$$

HIGHER ORDER HOCHSCHILD COHOMOLOGY

$$\dots \xrightarrow{\delta_{d-1}} \text{Hom}(A, A) \xrightarrow{\delta_d} \text{Hom}(A^{\otimes(d+1)}, A) \xrightarrow{\delta_{d+1}} \dots$$

Note that:

$$\begin{aligned} \delta_d(f)(a_1 \otimes \cdots \otimes a_{d+1}) &= a_1 \cdots a_d f(a_{d+1}) \\ &+ \sum_{i=1}^d (-1)^i a_1 a_2 \cdots \overline{a_{d+1-i} a_{d+2-i}} \cdots a_d a_{d+1} f(a_{d+1-i} a_{d+2-i}) \\ &+ (-1)^{d+1} a_2 \cdots a_{d+1} f(a_1). \end{aligned}$$

EXAMPLE ($d = 1$)

$$\delta_1(f)(a_1 \otimes a_2) = a_1 f(a_2) - f(a_1 a_2) + a_2 f(a_1)$$

HIGHER ORDER HOCHSCHILD COHOMOLOGY

EXAMPLE ($d = 2$)

$$\delta_2(f)(a_1 \otimes a_2 \otimes a_3) = a_1 a_2 f(a_3) - a_1 f(a_2 a_3) + a_3 f(a_1 a_2) - a_2 a_3 f(a_1)$$

HIGHER ORDER HOCHSCHILD COHOMOLOGY

EXAMPLE ($d = 2$)

$$\delta_2(f)(a_1 \otimes a_2 \otimes a_3) = a_1 a_2 f(a_3) - a_1 f(a_2 a_3) + a_3 f(a_1 a_2) - a_2 a_3 f(a_1)$$

EXAMPLE ($d = 3$)

$$\begin{aligned} \delta_3(f)(a_1 \otimes a_2 \otimes a_3 \otimes a_4) &= a_1 a_2 a_3 f(a_4) - a_1 a_2 f(a_3 a_4) \\ &\quad + a_1 a_4 f(a_2 a_3) - a_3 a_4 f(a_1 a_2) \\ &\quad + a_2 a_3 a_4 f(a_1) \end{aligned}$$

DEFORMATIONS

QUESTION (CORRIGAN-SALTER – 2017)

What role does the higher order Hochschild cohomology play in deformation theory?

QUESTION (CORRIGAN-SALTER – 2017)

What role does the higher order Hochschild cohomology play in deformation theory?

THEOREM (CAROLUS AND STAIC – 2018)

Let A be a commutative k -algebra and $u : A[[t]] \rightarrow A[[t]]$ determined by $u(a) = a + u_1(a)t + u_2(a)t^2 + \cdots \in A[[t]]$.

1 If u satisfies $u(a_1 a_2)u(a_3) = u(a_1)u(a_2 a_3) \pmod{t^2}$, then $u_1 \in Z_{S^2}^2(A, A)$.

QUESTION (CORRIGAN-SALTER – 2017)

What role does the higher order Hochschild cohomology play in deformation theory?

THEOREM (CAROLUS AND STAIC – 2018)

Let A be a commutative k -algebra and $u : A[[t]] \rightarrow A[[t]]$ determined by $u(a) = a + u_1(a)t + u_2(a)t^2 + \dots \in A[[t]]$.

- I** If u satisfies $u(a_1 a_2)u(a_3) = u(a_1)u(a_2 a_3) \pmod{t^2}$, then $u_1 \in Z_{S^2}^2(A, A)$.
- II** If u satisfies $u(a_1 a_2)u(a_3) = u(a_1)u(a_2 a_3) \pmod{t^{n+1}}$, then we can extend u so that it satisfies $u(a_1 a_2)u(a_3) = u(a_1)u(a_2 a_3) \pmod{t^{n+2}}$ if and only if

$$\sum_{i+j=n+1} u_i \circ u_j = 0 \in H_{S^2}^3(A, A).$$

GENERALIZATION

EXAMPLE ($d = 1$)

$$u(a_1 a_2) = u(a_1)u(a_2)$$

GENERALIZATION

EXAMPLE ($d = 1$)

$$u(a_1 a_2) = u(a_1)u(a_2)$$

EXAMPLE ($d = 3$)

$$u(a_1 a_2)u(a_3 a_4) = u(a_1)u(a_2 a_3)u(a_4)$$

GENERALIZATION

EXAMPLE ($d = 1$)

$$u(a_1 a_2) = u(a_1)u(a_2)$$

EXAMPLE ($d = 3$)

$$u(a_1 a_2)u(a_3 a_4) = u(a_1)u(a_2 a_3)u(a_4)$$

FOR d ODD

$$u(a_1 a_2) \cdots u(a_d a_{d+1}) = u(a_1)u(a_2 a_3) \cdots u(a_{d-1} a_d)u(a_{d+1}). \quad (1)$$

GENERALIZATION

EXAMPLE ($d = 2$)

$$u(a_1 a_2) u(a_3) = u(a_1) u(a_2 a_3)$$

GENERALIZATION

EXAMPLE ($d = 2$)

$$u(a_1 a_2) u(a_3) = u(a_1) u(a_2 a_3)$$

EXAMPLE ($d = 4$)

$$u(a_1 a_2) u(a_3 a_4) u(a_5) = u(a_1) u(a_2 a_3) u(a_4 a_5)$$

GENERALIZATION

EXAMPLE ($d = 2$)

$$u(a_1 a_2) u(a_3) = u(a_1) u(a_2 a_3)$$

EXAMPLE ($d = 4$)

$$u(a_1 a_2) u(a_3 a_4) u(a_5) = u(a_1) u(a_2 a_3) u(a_4 a_5)$$

FOR d EVEN

$$u(a_1 a_2) \cdots u(a_{d-1} a_d) u(a_{d+1}) = u(a_1) u(a_2 a_3) \cdots u(a_d a_{d+1}). \quad (2)$$

GENERALIZATION

THEOREM (L – 2019)

Let A be a commutative k -algebra and $u : A[[t]] \rightarrow A[[t]]$ determined by $u(a) = a + u_1(a)t + u_2(a)t^2 + \cdots \in A[[t]]$.

I If u satisfies (1) (respectively (2)) mod t^2 , then $u_1 \in Z_{S^d}^d(A, A)$.

GENERALIZATION

THEOREM (L – 2019)

Let A be a commutative k -algebra and $u : A[[t]] \rightarrow A[[t]]$ determined by $u(a) = a + u_1(a)t + u_2(a)t^2 + \dots \in A[[t]]$.

- I** If u satisfies (1) (respectively (2)) mod t^2 , then $u_1 \in Z_{S^d}^d(A, A)$.
- II** If u satisfies (1) (respectively (2)) mod t^{n+1} , then we can extend u so that it satisfies (1) (respectively (2)) mod t^{n+2} if and only if

$$\sum_{m=2}^{\lceil \frac{d+2}{2} \rceil} \left(\sum_{i_1 + \dots + i_m = n+1} u_{i_1} \circ \dots \circ u_{i_m} \right) = 0 \in H_{S^d}^{d+1}(A, A).$$

OBSERVATIONS AND QUESTIONS

Let A be a commutative k -algebra and $u : A[[t]] \rightarrow A[[t]]$ determined by $u(a) = a + u_1(a)t + u_2(a)t^2 + \cdots \in A[[t]]$.

- For u , notice that $u_d \in H_{S^d}^d(A, A)$ is determined by the isomorphism class of u .

OBSERVATIONS AND QUESTIONS

Let A be a commutative k -algebra and $u : A[[t]] \rightarrow A[[t]]$ determined by $u(a) = a + u_1(a)t + u_2(a)t^2 + \cdots \in A[[t]]$.

- For u , notice that $u_d \in H_{\mathcal{S}^d}^d(A, A)$ is determined by the isomorphism class of u .
- If u satisfies (1) or (2) for $d = n$ and u satisfies (1) or (2) for $d = m$, then u satisfies (1) or (2) for $d = n + m$.

OBSERVATIONS AND QUESTIONS

Let A be a commutative k -algebra and $u : A[[t]] \rightarrow A[[t]]$ determined by $u(a) = a + u_1(a)t + u_2(a)t^2 + \cdots \in A[[t]]$.

- For u , notice that $u_d \in H_{S^d}^d(A, A)$ is determined by the isomorphism class of u .
- If u satisfies (1) or (2) for $d = n$ and u satisfies (1) or (2) for $d = m$, then u satisfies (1) or (2) for $d = n + m$.
- Is there a G -algebra structure on $H_{S^d}^\bullet(A, A)$ for any $d \geq 1$?

OBSERVATIONS AND QUESTIONS

Let A be a commutative k -algebra and $u : A[[t]] \rightarrow A[[t]]$ determined by $u(a) = a + u_1(a)t + u_2(a)t^2 + \cdots \in A[[t]]$.

- For u , notice that $u_d \in H_{S^d}^d(A, A)$ is determined by the isomorphism class of u .
- If u satisfies (1) or (2) for $d = n$ and u satisfies (1) or (2) for $d = m$, then u satisfies (1) or (2) for $d = n + m$.
- Is there a G -algebra structure on $H_{S^d}^\bullet(A, A)$ for any $d \geq 1$?

Thank you!